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T 347 % 133705 ?’4“-' , Au3logs 3/rables
4665 L —— 1 6689 =3.0394 AN Agewptionddlops My
) M l'll‘
Y0092 2. 9657 16552 L Attempt to divide by 3 &
) Sl!l
2422x100 4 33842 METIE T
2422X 107 e ;
0.423 X 10° 2422°
2 e _ 87
Selling price IOOXSOO M, %
=696 i
4 M ‘
Costpeice: = 100, ¢96 ™
120 =
= 580
3 la) Mode=1" R, accept 32 20
B M _ Ox5+1x6+2x4+3x3+4x1+5x1 orl?
. 20 M,
= 1.6 el
3 marks
4 ; -4-8 M, Y =-2x+C
feirac, AR =) 4=-2(3)+C  substitute
i C=10 |
through (3,40 -
: y -4 2 M,
x-3 ol
y=-2x+10 3 marks |
5 |Log (6x-2)-log 10=log (x-3) M, for single logs on both s
i ( 6x— 21 _ log(x ~3) " for dropping logs correctly
10 ' '
6x-2 ., T
10~ 7 =
6x-2=10x1:;0 4 madks
6 ey 72x1000m let length of train & bridge
60 x 605 B, be x ‘
=20m/s x+20=15 =300
_[b) letlbelengthoftrain . .. . M, 1=300-80
1+80 _ . b Wh e
20
1=300-80 Ay
=290m 3 marks
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7
for 1 mediator
for 2nd mediator
and centre labelled
or equivalent
g avai ag.""‘."ﬂ.‘v"‘ ”m’nzd t\l AR
-'i—=2—8x=’0 -
x=4 M; atleaétltermcomctly
y=6+2(1)—4(—})2 differential
=5-‘- A—I
turning point (4,6%) |3 marks
9 IS.A. = 4(4n? )+ nr?75n M:  |S.A of sphere MRE 5
R=4331
V=1083 "
o =Z§5-3t—=25
7:'¥5 A
: ' M
14 P Accept e 250 4335
V=-—(—nx5’) \ 3
23
=, =21
88in p—
0 T = |
_75_: 3a=1 ‘ B, ——ﬁra[
V3-6439=23-6313 =>V3=3a
=2(l]-6( ,‘_Jb M, [2G2)-63a)b
o) &, \dad) =£3-18ab
_2_6  |=6a(1-3b)
. 5 A
= 2 aﬁb or 2(1 ~3b) 3 marks
1 gy @ -x) =26 —6.2°x+15.2*x* - coctficient and_correct
: powers of x
20.2°%° +15.22x* —6.2x° + x° M,
=64 — l92x+240x -160x
+60x* ~12x° Ay
< ~1}6 ' ‘
(‘,4,1.993=f;~ 21% +2 o M, ?
= ) g
9 ft 9’7+O ) lz:;m" E
— T ORI PO V. S [ S R T 0 g = I






12 |x+y < 440 By
B,
y 2120° 1By
x> 150 3 marks
13 |Work done by 4 =34x{ M,
. Vxl"%z
Remaining work = 1.1 — 7/,
. 5 1 M
Time taken by B= —+— ! |
12 9 g '
5,988 A
Ty 1
5 13% 2 3 marks
14 AW M=13465 ,
- _ 2531 10000 My or equivalent
—46000 .
hyd or equivaien:
Atieno’s extra = ——x46000 A
23 sk
=4ooo B i
15 A=250, =2, D= +1’9 1%; fo]ra,rfandncorrect :
T9-250x23 A; | allow for Tg ;\\44;
=250 x 256 S
= 64000 3 marks :
_ For 250 seen, evidence of
pays | 0] 21 4| 6!l s t1w0]2 [1a |16 B; doubling and nine terms.
{nsects 250 {500 J 000 {2000 |4000 {8000 l16000 |32000 4000 X i I;zaocg“"is“’m do“bling “
1 1
16 |Sat+ vt = S=kt + pt
14 = 4k + p/4 ‘ _
27 = 9k+pJ- M, for 1 equation
42 =12k + 6p
54 =18k + 6p M
—-12 =—6k Ay attempt to solve
k=2&p=3 B; simultaneous equations
S= 2t+3J_ 4 marks
17 lx+y=19 B,
-x+3y= 9 1 3 y
® | inverse= ( ) fx
1
(3 —3 5 ol 3 -1Y19
549 M,
1 0 x\_ 4 : Ay
-0 1Ay 16 64
x=3andy=4
11-3) +(-2-4) M,
®) V1-3) +(-2-4) i)
=64+36 . A ,
"l =10cm 8 marks /

-231-

o
‘Revision K.C.S.E Maths 1995-2005 *






E Cost of 1™ beand per kg
) | 5x140+3x160 M,
=
= 147.50 M;
180-147.50"
oroft — e i ek e leun‘a A
B PRI 50 ™
=22.03%
Plm Xeyr=ssox=iy
YiL=25=L=%y
X.Y:Z=3Y:Y:3Y M,
= 10:6:15 Al
i~ n. 10x140+6x160+15x 256
i Gty S b
=sh. 200
New price = g‘:’xzoo ' r;x.
Lt A,
=sh. 260
19 1 cm rep 40km
B
B
B
B,
By
N R
35 |
M
. 496
Time = T $53x40 |
= +41 hr ‘
ey s N R 'Al
b

o e
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| G
AN 5o
iy, - {Major arc RPL drawn
o \\”‘ {5]
i’—/-"-—“—m—- I : 4] Locating centre 0,
¥ Y Y W
Major arc RQL drawn
apply OW-1 if
complete cicles dmvvn.

S By T [8xHiy %180
ER A ;e By accept if x = 8 given
5% ‘i C R |3x4y 120 drawn
= | .. 1& shade .
:./. Ll
SCé_(-—_—‘/ . e :
N, ey, it 8x ! 3y <180 dywn
i .._:_;5;‘ G\ 77"5‘%{-&-:;1:)(5}*70 74 & shade -
P G ———— = 2000 L ,
g el _ri____\»g | X 2 8 and y > drawn
i waE = = =
Pocahdaky. /-/,\Q—u—/—/‘-‘-" M; .
. ; _:, O e _Qz_’ i 3 S e
3 ,:%_ o HE.‘_.—'.__‘___';}-;‘E\\_\,_‘ = Ay . '
- 4 \;: R 8 marks | accept if x = 8 drawn
-}
TR s 20 ze 40 :
—=3x"-3=0
g“; R
BT —ii=1]
x-1)x+1)=0
x=1y=0&x=~1,y
Coordinates are (1, Oj& (— 14)
dy
or(1,0) x <1,—is —
Jor(1,0) x <1, is -
x>1, Qis+
=>,(1, 0) is a min imum
Sor(-14)x <-4, %is+
x>-], e s is—
= (~1, 4) is a max imum
22 a perpendicular to PQ
l —— drawn
R . ‘
: @_ a parallel line 3cm above
£ PQ drawn
_ %o ®Oz
- M perpendicular to PQ drawn
= S atL
{i 7&
T R identified

.Locatmg centre 0;
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x 30 |75 |105 [ 135 [165
Cosx’ 1 0.87 { 097 | 0.97
Sin (x+30)° 0.97 026 |26

bb" Is 3o 4‘§ so 75 9¢ los W )ér ba\]e,a '.so
[ \ / 3-" S‘*“(’;&
e R
!- (C.\ ‘)r‘wu-.r\ — |‘k0
b Ryt N st i

| _ RS20 cﬂg@ =

/ e
/' ~ ]
y
. P ]
el
(&) Fivjectivi 0f VT vu piane I—‘Qw-“ O
8
OoP - 2 I

(b)<betweenVPandPQRS <VPO
\4 Qu}g
13

> (56.25%)
i(c) < bétween VQR and PWRS = <VMO=a

VM= {122 —¢?

v
288 = 16.977
‘ T "méﬁ"j.:ﬂ?bB'l
= o= 61" 52
o4 g = (61879
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lJ = 10cm

=0.5556 Q=56"15
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